L PreR e 1

L.

o e b At b e /% 8] oo 9T a -

SRS, Op———- S

Lt o —————YT VP

iR AN, A A
>

LTI

-7 O-T® r-;Tsao

o w—

. 3

/
EXIST. POLE %,

T —-

(c"-0 )

EXISTING BURIED

CONDUIT P3 -
-
_\,

gzi-Bf

/EXISTING’ PNL BD "A”
&

_LI‘\ '
SEE NOTE 20 //

O

INSTALLATION

SCALE :

w

&

75

' A . 4
/—EXlSTINL: BLCWER KI

20.

2P

A THIS DRFAVING |5

GENERAL NOTES

. ELCCTRICAL INSTALLATION SHALL CONFORM TO THE

193 EDITICN OF THE NATIONAL ELECTRICAL CGODE.

FIELD LOCATE CONDUIT AND EQUIPMENT APPROXIMATELY
AS SHOWN.

. GROUND CABINET, PART NO. 2, TG EXISTING GROQUNDING

SYSTEM USING WIRE, PART NO. 14 PER HPS E-i2-1.
PART NO.'S 3,4, AND 5 SHALL BE U.L. OK F.M. LISTED.
REPLACED MONITORING EQUIPMENT, HOT AIR IN-BLEED
SYSTEM, ASSOCIATED CONDUIT, NRING, ETC SHALL BE
REMOVED FROM SiTE.

ACCEPTANCE TEST PROCEDURE PER ATP-G-199-0D010.,

ALL PARTS SHALL BE PROCURED AS QA. LEVEL IT
EXCEFT PART NO, 2 .

MOUNT PRESSURE SWITLH PART NO. S VERTICALLY.
LOZATE APPROXIMATELY AS SHOWN. A!RE N.O.
CONTACTS AS SHOWN ON[NTERCONNECTION DIAGRAM.

. CONDUCTORS SHALL BE 'DENTIFIED WIiTH PLANT WIRE

NO.'S, JSING IMPRINTED TURULAR WIRE MARKEFS 2T
ALL TERMINATIONS.

. IDENTIFY [INSTALLAT'ON ART NO. | ©ER HS-BS-0CI5,

TYPE 8, WITH DRAWING NO). , PART NO. AND DRAWING
REVISION NO: IN LOCATION INDICATED, USING .50 MiN
HIGH BLACK CHARACTERS.

MARK CONDUIT NO.’S USING METAL TAGS W!TH .25
MIM HIGH CHARACTERS.

.. PART NO.’S 3 THRU G,IO,21,27$23 SHALL 8E PROCURED

A3 SPECIFIED : NO SUBSTITUT!ON PERMITTED,

INSTALL HEAT TRACE ,PART NO. 3, AND CONNECTOR
KIT, PART NO. 4, PER VENDOR'S INSTRUCTIONS. SEE
CVI 20758. CONNECT TO POWER CABLE EXTENDING
THRU TOP OF CABINET. LOCATE THERMOSTAT BULB
ON TUBING 180° FROM HEAT TRACE. INSULATE USING
PART NO. 7.

. DRILL .38 HOLE AND INSTALL AIR FLOW PKORE,FPART

NO. &, WITH OPENING FACING INTO AIR FLOW. FIELD
LOCATE APPROXIMATELY AS SHCWN. CONNECT FLONW
LINE TO HIGH FRESIUYRE SIDE OF SH:TCH.

. SAMPLE TUBING PART NQO.’S 8 ¢ 9 SHALL BE

INSTALLED WITH A MinIMUM NUMBER OF BENDS
USING A BEND RADIUS OF 1O TiMES THE DIA. OF
THE TuBING.

PERMANENTLY MARK STACK NO. "296-B-4B" USING MIN,
.50 HiQaH EBLACK CHARACTERS FER H3-Bs3-0GiS,
TYPE 8. LOCATE APPROXIMATELY AS SHOWN.

Gthe POIMETRATIONS IN TOP OF CABINET 1SING
PART NO. 17,

PAINT ALL EXFOSED CARBON STEEL SURFACES

AITH AMERCOAT #86 PRIMER AND WITH TWNQ COATS
AMERCOAT #2323, FINAL COAT GRAY PER MANUFAUTURERS
INSTRUCGTION S.

PART NO.’S 31, 35 AND 36 SHALL BE INSTALLED
BY THE UTILITIES DEPARTMENT.

INSTALL PT. NO. 38 IN BLDG 22!-8BF, EXISTING CIRCUIT
PANELBOARD “A” SLOTS 13 AND 15.

EXTEND EXISTING 120 VAC INSTRUMENTATION POWER
CIRCUIT TO PROVIDE NECESSARY RECEPTACLES.

MODIFIED EY H-2-77275 SH. |

RATE O-60 TO O-6C,000 COUNTS/HOUR.

7115 VAC, GO HEZ INPUT

PART#SC-1356-C

|}
2
2
&
i
’
' i
* !
]
3 2 1
15 e
uai REF. DES, DESCRIPTION MAT/REF
f " INSTALLATION 1
2 ﬂczuamc STACK RETA-RECOKD CAB. A3SY H-2-74854 -1
3 HEAT TRACE , 120 VAC , IO W/FT cuEMeLEX TIoPTVvi | © |
4 | CCNNECTOR KIT FOR PT. NO. 3 CHEMELEX PVK 2
5 " SWITCH , PRESSURE SENSING, N NEMA 4 ENCL. | CLEVELAND CGNTROLSH &
, INC. *AFS-95-1 >
p PROBE , AIR FLON CLEVELAND CCNTROLS
INC. ® 21121
7 [INSULATION, PIPE, iz THK, TYPE B ,CLASS I HFS 114 M A )
) [ TUBNG, 3/¢" O.D. x . 065 WALL 300 SERIES S% 2 )
JE— 3|
q TUBING, 1/4" O.D. x .O35 WALL 300 SEK ES SS Elr
o RECORDER, STRIP CHART, 10 —IDOK CPM PART OF '
| (BETA-GAMMA) H-2-92438-5
1] i UNION ,1/4" TUBE TO TUBE SHAGELOK SS-¢60-6
SAEERIN T SRR AL el e AR S 2 )
iz | TUBING, /47 O.D. x .030 WALL COPPER
13 CONCRETE PAD H-2-925)7
14 | WIRE , BARE,*2 AWG , GROUNDING COPPER
| 15 | WIRE,*IOANG, THHN COPPER
16 | WIRE ,® 4 ANG , THHN CCPPER
17 | GASKET, [#e* 0.D.x3/8" I.0.x I/8“THK, 40t 5DR0 COML NEOPRENE
18 [l PROBE ASSEMBLY H-2- 74856
14 SEALING COMPOURD .. RTV 7403 OR EQU;.L
20 "ELBOW, STREET, 90°, 1/4 NPT CoML BRASS §
i METER, PANEL, 6" EDGENISE , 4 -20MA ,DC MOVE- i 31
2 MENT,SCALE O TO 80 IN MINOR [IMCREMENTS OF Cpi‘;:‘fggﬂg‘}}ﬁ%é:“ b3
Uit 'S, MAJOR DIVISIONS OF 10,20,30,40,50,40,70¢ T2 d 5
| 80, TAG: CFM x IO
AR| 22 ; CONDUIT, 3/4% RIGID,N/MISC. FITTINGS coML.
-~ COUNTER, EIGHT DIGIT, NON-RESETTABLE,[ROCHESTER INSTRUMENTS
; 24 v DC SYSTEMS 0O08-503
24 | EONBBHF /2% EMF—WMSE—FITTINGS — | €oME—
25 WIRE , 18 ANG,600 V INSULATION COPPER
AL PHA %5620 810
AR! 26 CABLE, ¥ 16 AWG, 2 TWISTED SHIELDED PAIRY | '5pn 08 CONH 2
LINEAR INTEGRATOR, 4-20MA,DC INPUT.
27 | \I_L"w‘ Y FULESES SU T BB USTRSU S GV N gQ’CSHTEg;dE%R INSTRUMENTS

» SQUARE ROOT EXTRACTOR, 4 -20 MA DC

CINPUT. 4-20 MA, DC OUTPUT, IS VAC 60 HZ INPUT

. POHER WITH 24 VDC CURRENT LIMITEQ POWER
| SUPPLY FOR AUXILIARY 2-W/RE TRANSMITTER

ROCHESTER [INS TRUMENTS
SYSTEMS
PART ® SC-1330-C

2q ! CHANNEL UNISTRUT *P 1000
@] 30 ENCLOSURE , 6'x @"x 47, TIPE NEMA 3R | COML
2| 31 CONNECTOR [, SERVICE ENTRANCE, LIQUID TIGHT, | comL
4 32 BOLT, HEX HEAD, [#Z UNC-2A x 3/4"LG | COML CS
e} NUT HEX , 1/4 UNC-28 COML Cs
4| 34 WASHER, SPLIT, /4" comL cs
35 CABLE, MESSENGER , ¥6 (SEE NOTE 14) COML STEEL
36 SEKVICE ENTRANCE CAP, (I THREADES | COML
37 CCNDUIT, 17RIGI, WAMISC. FITTINGS COML
38 CIRCUIT BREAKER3 2-POLE,3( @.,240 VAC SQUARE" D" GO 230
39 T TcoNDUIT, 1", PVC COATED W, MISC. FITTiNGS | comL
40 CABLE; 3 C * 14 AWG, OO v. COPP ER
41|  |UNION REDUCING 3/4°TuBE TO i2” TUEE| SN

SNAGELOK SS-1210-678

ANNUNCIATORSURFACE MOUNT CARINET—-
FENCLOSURE |, 8 EA: A3 SM-tOOO, GEN

RONAN- 2. 4%3

OO0, NEMA 12 - i E

LYY nY VU<V .

RURROSE e MAC MODULES— T

FELASHER -MODELX3-5C21-1t5 vaAc -4—

43 GASKET, MP0vA. x /8™ 74## LOML  NEOPRENE
+4 REDUCING UNION, FRACT] TUBE TO FRACT TUBE, SWAzELOK
"4 ro# S§-8M0-6-4
Tal -

a 1] [a] [311

THIS DAAWING HAS BEEN APPROVED BY A

L

S90i

B

[

= =

ROCKWELL DOOCUMENT REVIEW BOARD.
4-2-924%8 |GENERIC STK SAWPLER/MON §§ B —a
H-2-9¢517 ]STACA MONITOR CONCRETE PAD E‘§ cruamman _ G 4 oo DATE 4/4;4 /B3
45-85-0013 | SPECIFICATION == == == =
H-2- 74856 | Z296-8-13 STK. MON. PROBE ASY
H-2-90735( |ELEC./INSTM CAM WIRE RUNLST IMPACT VIE b i
H 2-37876_ |INSTR_PNL. ARR. WIRING & DET. : ! LEVEL
A-¢- 37880 | NSTR BLDG EXH.STK RADNOK ﬂﬁﬁ: U. S Departeynt of Energy
H-2-318GG6 |ELECT SITE PLANS § MGL. DET. e sanies gl
H-2-378¢8 ELECTRICAL CIAGRAMS P . |7 =
H-2-37867_ | ELECT PLANS/DETCB FLANT) ’ T 5 _@% '«U:: - Rt Wemhirgn
CVI-20758 | -9 3 ™ B
s AP e [# ER & sez2| ) ; 296 -B-13
HS-BS OOI5 | IDENTIFICATION 2 AN .‘.s:1 %:‘REVB‘O“ PER ECN O1S62| 2 I3 1 kgt 23 i
APS-E-12-1 | GROUNOING _ A ) TO P J"’-&B £0.14167 cuance ah TexcT| | | T tanzon STACK MONITOR . E
17 GIT1-00010_| ACCEPTANCE TEST A e PR el 1 PUNE LA Z807 NP e — T INSTALLAT!'ON
H-2-74854 |GENERIC STack MON. CAR. g e P I = = > 73 : i
H-2-37858 | DRANING INDEX o T APV o | o= s = e = —
— — +— —————’ == A ss ik guoreo] 221-8F|
NDPTMBCE ORAMNGS P ————— - 10/\6/82cam | crx rer. smam i | 101/ 7/93 oam = yoT = = 2=
S aia ar 2] NONE | reo H-2-74855 [T e

205 eEIma fizsue DROT
1983~ $98-008

Pl

e

R e

aLa

e SRR S [l o SO [P

ey AR



.

176 Lbtn

d

all

% LT ) | | L L T R R R 3

' ' Aa;zz' it ~caz.ugt:c:3/ii:;e»; rld?msc FITTINGS coMmL ~. 031(’27 [
0CPREDA. M . : > :
; ' Va3 ! COUNTER, EIGHT DIGIT, NOM-RESE TTABLE ,|ROCHESTER INSTRUMENTS : '
| | 24 v DC SYSTEMS ONR-503
ONNECTOR RESeT PP A T PACETE .
NS. SEE - “"‘L‘Y H F} > ﬁ- ' ‘l ll“GS comMmT
‘ENDING |AR| 25 ! WIRE , I8 ANG,600 V INSULATION COPPER
AT BuLB ; ; ALPHA %5620 8iCO
e e AR 26 \CABLE, ¥ /6 AWG,2 TWISTED SWIELDED Pas | ALFRE WECT08IC02
| ' LINEAR INTEGRATOR, 4-20 MA,DC INPUT.
1% /24 VDC PULSE OUTPUT, ADJUSTABLE COUNT Rgﬁ:ﬁ‘ggi bl i
SEE, FART il [ RATE 0-60 TO O-4C,000 COUNTS/NOUR.| piotese 1356~ c
FIELD A, f 115 VAC , GO HE INPUT
" FLORN [ ; ;
o . SQUARE ROOT EXTRACTOR, 4 -20 MA, DC
Vit ga ! |INPUT. 4-20 WA, DC OUTPUT, IS VAC, 60 K INPuT | SOCHESTER IWETRUMETS
e A (POMER WIT4 24 VDC CURRENT LIMITED PONER | S Loi"r o o LE
1? f i . SUPPLY FOR AUKILIARY 2-WIRE TRANSMITTER
. OF AR 29 [ CHANNEL UNISTRUT *P 1000 :
G| 30 ENCLOSURE , 6"x ©"x 4", TrPE NEMA 3R | COML . .
o ] | S
ISING MIN, 2] 3 CONNECTOR, I SERVICE ENTRANCE, LIQUID TIGHT, | COML =i JTE
51S =
g 4, 32 BOLT, HEX HEAD, I/4” UNC-2A x 3/4"LG | COML CS :
433 NUT, HEX , I/4 UNC-28 coML €S 1 /
i 4|34 WASHER, SPUT, 1/4" comL csS | :
AR| 3S CABLE, MESIENGER , ®& (SEE NOTE 19) COML STEEL
CES T —— . e ;
COATS 2|36 SEKVICE ENTRANCE CAP, 1" THREADED comL ,
FALTURERS AR |37 CCNDUIT, 1"RIGIU, W/MISC. FITTINGS CoOML |
1138 CIRCUIT BREAKER , 2-POLE, 30 A.,240 VAC SQUARE*D" GO 230
——- ——e e il - = S — [
0 AR (319 CONDUIT, 1°, PVC COATED W/ MISC. FITTINGS come sy
AR| 40 CABLE, 3/C ® 14 AWG, ©QO V. COPPER 1%
— - R - s |
G ClRCLIT 24l UNION REQDUCING  3/4"TUBE TO i2” TUBE| SNAGELOK SS-1210-6- 'i? i
| ANNUNCIATORSURFACE MOUNT CABINET— | ROMN- 2.4 % 3SM— 3! X
POKWER }—t &2 FENELOSULRE , & EA.-X3 §MH-LOOO, GEN HOOO; MEMA 12~ E ;
S. ! | RURROSE —HE AL MODIMLET— i TH— | HOOUIL-ORM— L !
FLASHER- -MODEL—*3~5021~H5 Y&t -+ _;-;@'_1"
/|43 GASKET, /! "O/A. x f8" THE LOML NEOFRENE X
2| +4 REDUCING UNION, FRACT TUBE TO FRACT TUAE, SwAcELoK
s rof $5-810-6-4
. ; 1] [2] JEXI 1af -
bt o L THIB DRAWING MAS BEEN APPROVED BY A
- < ROCXWELL DOCUNENT REVIEW 3OARD.
B e Carm it = b4 ] REVERION NO.
DN e o :3 ?
ATUS OF oUmTaea amiaea g3 | cwmmman _ QL s OATE /1470 /43
i = Y b NS —— = — - SRS
rROM
IMPACT LEVEL I
S TSP PN N CRATNNG APPROVALS | DATE U.S.Dmdiw
o ' _,7;,,? L————Lz—m Aottt Opctiows Otes
‘- ] Sajer 17, '/ Rocks dond O
i — et B Richinnd, Washingios 282
& [He M Eﬁ uligs [l ~
W uer #:7/ REVISION PER. SCN 01542| 2 2D = 296 -B-13 :
PN B N Tz (pba 2.4 il |
Te“ ’ﬂ:’kﬁ! 2014167 cunse an e | [T S TR ON STACK MONITOR .|
l‘ 4 K 2 4 4 3. _
; TA Y e el INSTALLAT!ON LY
wrme | O®s | - r g 2
= ; : Ve g»oreor_ ZZ!-BF[ 590l A
| /18/B3mm | OOarwr.0mm M | 1| #/93 am - P i ;
= [orr < 2. NE | rean H-2-74855 | | & e
) 3 2 | Bt





